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ALS - 17
Lecture 17:  Trees
A digraph’s edges are _________________ but a graph’s edges are _____________________.
A graph is connected if ____________________________________
A graph with no cycles is called ______________.

A tree is a __________________   __________________ graph.
The root of a tree has no ______________________________
Every vertex in a tree (except the root) has ___________________________ from the root.
A tree level is all the vertices that ________________________________
A vertex is a parent to all vertices that ____________________________________.

Vertices at the same level with the same parent are called _________________ 
The height of a tree is the _______________________________
A tree vertex with no children is called a ________________
In a complete n-tree, every non-leaf has _______________________________
A binary tree is ________________________________

A complete level-3 binary tree has _____________________ vertices.
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